RS

16 a. Determine the position, velocity and ac

18

19 a.

20

b.

b.

a.

h.

M} «w’dm

Explain the application of the principle of conservation of energy.
(OR)

Find the approximate solution for simple pendulum

SECTION-C (5x8 =40)
~ Answer All the Questions
All Questions Carry Equal Marks

celeration of a particle in rectilinear

Motion (OR)

- A projectile is fired with an initial velocity of 800 fUs at a target B located

2000 ft above the gun A and at a horizontal distance of 12000 fi.
Neglecting air resistance. Determine the value of the firing angle «.

£
< _ [2000 & 3
Discuss about Linear momentum and angular momentum and their

conscrvation principles.

lﬁ\oﬂlhv

(OR)

. Explain about Newton's Law of Gravitation with an example.

Explain the work of the force exerted by a spring.
(OR)

Discuss about the conservative forces and conservation of energy with

example for each.
Explain the obligue central impact with an example.

(OR)
A ball is thrown against a frictionless vertical wall.  Immcediately before
the ball strikes the wall, its velocity has a magnitude v and forms an angle
of 30° with the horizontal. Knowing that e= 0.90, Determine the
magnitude and direction of the velocity of the ball as it rebounds from

the wall.
Find the displacement, velocity and acceleration of the simple harmonic
motion, Also find the natural frequency of the vibration.

: (OR)
Fxplain the free vibrations of rigid body with example.

£ D
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R | AnswerALLquestlons
ALL questlons carry EQUAL marks “E

The complete mtegral of the equatlon (1 - x)p +@2=- y)q = 3 ~zis

Max1rnum 5 O Marks

(5x1—5)

() z=0=-x)a+@C=y)b - () 3-z=(1- x)a-(z yjb "
(111)z-ax+by—-a-—2b+3. (1v)z-ax+by—-a—2b

The solutlon of (D2 - SDD’ + 6D’ )zi =01 is=.

SO AGHZO RGN L ) A =204 fily 3
(m) f1(y - 2x) + fo(y + 3x) (i) f1(y + Zx) + fz(y 3x)

Whlch one of the followmg is an even functlon?
(D x3cosx e () x2 coSX _
(111) x2 smx S ] =_‘-’~(_1v) x2 tanx SRRl

?{f’(x)}_g .

0 '-—sz{f@i L BN

@ W@y TS
;.;One-dlmenswnal heat equatlon s T
) =t L “;(,-“-.) ==t .

o Answer ALL Questlons PR - S
ALL Questlons Carry EQUAL Marks - (5 x 3= 15)

F orm a partlal dxfferentlal equatlon by ellmmatlng the arbxtrary functlon g from B

| 'rthe relatlon z = x + Zg( + logx) o e

'~:j.‘l“v’f,’Solve p + q ~'- x2 + y

OR

T :Fmd the characterlstlc of the equatlon Buxx + lOuxy + 3uyy:—- O when 1t is: of Sy
SRR jhyperbollc type R e e e

oR.;_LI-» PR

't.ﬁ;j f "'Solve (D2 - BDD’ + D' )z = smxcosy e ,».5‘:/_" e

a 'A.j"fObtam the Fourler senes of the functlon f (x) = IxI -—-7r < x < 7r S

| f(X') = { _ lf 0 < x < 77;

.OR

| Flnd the ‘- Fourler coefﬁcwnts fi;\Of :th penodlc o functlon - ST

Y —m<x < o w1th perlod f(x + 27t) f(x)
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